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EVENT COUNTING - AND Hits 1 Hits 1

ZERO COUNTING - AND Hits 0= Hits 0= e(0-1)

EVENT COUNTING - XOR - A Hits 0=Hits 1 e

e         +e
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-

-

EVENT COUNTING - XOR - C Hits 0= Hits 1 e(0+2-1) e(0-1)--

1- e(0+1-1)

Hits 1 Hits 1
Hits 0=Hits 1

Hits 0= Hits 1

Hits 0= Hits 0=

Hits 0=Hits 1
Hits 0= Hits 1

Hits 1 Hits 1
Hits 0=Hits 1

Hits 1 Hits 1

Hits 0= Hits 1

EVENT COUNTING - OR

ZERO COUNTING - OR

EVENT COUNTING - OR - A

EVENT COUNTING - OR - C

1 e(0-1)--

e         -e(0+2-1) (0-1)+e(0+1-1)

1- e(0+2-1)

1- e(0+1-1)

-

Propability for 1 pp Probability for  interactionsEvent typeName

0    = 1-1-2-3

1    = A - coinc

2    = C - coinc

3    = coinc

sing= 1 - 0

A    = 1 - 0 -2

C   = 1 - 0 -1


